

A FAMILY OF SUMS OF GIBONACCI POLYNOMIAL PRODUCTS OF ORDER 4

THOMAS KOSHY

ABSTRACT. We explore sums of gibbonacci polynomial products of order 4 for g_{4n-1} , g_{4n} , g_{4n+1} , g_{4n+2} , and g_{4n+3} in terms of g_{n-2}^i , g_n^j , and g_{n+2}^k , where g_n denotes the n th gibbonacci polynomial, $0 \leq i, j, k \leq 4$, and $i + j + k = 4$. Correspondingly, they yield formulas for G_{4n-1} , G_{4n} , G_{4n+1} , G_{4n+2} , and G_{4n+3} , where G_n denotes the n th gibbonacci number. In addition, they have Pell implications.

1. INTRODUCTION

Gibbonacci polynomials $z_n(x)$ are defined by the recurrence $z_{n+2}(x) = a(x)z_{n+1}(x) + b(x)z_n(x)$, where x is an arbitrary complex variable; $a(x)$, $b(x)$, $z_0(x)$, and $z_1(x)$ are arbitrary complex polynomials; and $n \geq 0$.

Suppose $a(x) = x$ and $b(x) = 1$. When $z_0(x) = 0$ and $z_1(x) = 1$, $z_n(x) = f_n(x)$, the n th *Fibonacci polynomial*; and when $z_0(x) = 2$ and $z_1(x) = x$, $z_n(x) = l_n(x)$, the n th *Lucas polynomial*. Clearly, $f_n(1) = F_n$, the n th Fibonacci number; and $l_n(1) = L_n$, the n th Lucas number [1, 5, 6].

The n th *Pell polynomial* $p_n(x)$ and the n th *Pell-Lucas polynomial* $q_n(x)$ are defined by $p_n(x) = f_n(2x)$ and $q_n(x) = l_n(2x)$, respectively. Correspondingly, the n th Pell number P_n and the n th Pell-Lucas number Q_n are given by $P_n = p_n(1)$ and $2Q_n = q_n(1)$, respectively [5].

In the interest of brevity, clarity, and convenience, we omit the argument in the functional notation, when there is no ambiguity; so z_n will mean $z_n(x)$. We let $g_n = f_n$ or l_n , $b_n = p_n$ or q_n , $G_n = F_n$ or L_n , $B_n = P_n$ or Q_n , and omit a lot of basic algebra.

A *gibbonacci polynomial product of order m* is a product of gibbonacci polynomials g_{n+k} of the form $\prod_{k \in \mathcal{Z}} g_{n+k}^{s_j}$, where $\sum_{s_j \geq 1} s_j = m$ [7, 8].

1.1. Sums of Fibonacci Polynomial Products of Order 3. The following sums of gibbonacci polynomial products of order 3 play a pivotal role in our discourse [3]:

$$x^2 f_{3n} = 3f_{n+2}^2 f_n - (2x^2 + 5)f_{n+2} f_n^2 + (x^2 + 1)f_n^3 + (x^2 + 1)f_n^2 f_{n-2}; \quad (1.1)$$

$$x^3 f_{3n+1} = f_{n+2}^3 - 3f_{n+2}^2 f_n + (2x^2 + 3)f_{n+2} f_n^2 - (x^2 + 1)f_n^3 - x^2 f_n^2 f_{n-2}; \quad (1.2)$$

$$x^2 f_{3n+2} = f_{n+2}^3 - 2f_{n+2} f_n^2 + f_n^2 f_{n-2}, \quad (1.3)$$

where $f_n = f_n(x)$.

2. SUMS OF GIBONACCI POLYNOMIAL PRODUCTS OF ORDER 4

In addition to the above identities, our discussion also hinges on gibbonacci recurrence identities $f_{n+2} + f_{n-2} = (x^2 + 2)f_n$, $f_{n+2} - f_{n-2} = xl_n$, $f_{n+1} + f_{n-1} = l_n$, $f_n = (x^2 + 1)f_{n-2} + xf_{n-3}$, $f_{2n} = f_n l_n$, $f_{2n+1} = f_{n+1}^2 + f_n^2$, and the *gibbonacci addition formula* [5]

$$g_{a+b} = f_{a+1}g_b + f_a g_{b-1}.$$

With this background, we begin our exploration with $x^3 f_{4n+2}$.

2.1. A Gibonacci Sum for $x^3 f_{4n+2}$. By the Fibonacci addition formula, and identities (1.2) and (1.3), we have

$$\begin{aligned}
 f_{4n+2} &= f_{3n+2}f_{n+1} + f_{3n+1}f_n; \\
 x^3 f_{4n+2} &= (x^2 f_{3n+2})(x f_{n+1}) + (x^3 f_{3n+1})f_n \\
 &= (f_{n+2}^3 - 2f_{n+2}f_n^2 + f_n^2 f_{n-2})(f_{n+2} - f_n) \\
 &\quad + [f_{n+2}^3 - 3f_{n+2}^2 f_n - (2x^2 + 3)f_{n+2}f_n^2 - (x^2 + 1)f_n^3 - x^2 f_n^2 f_{n-2}] f_n \\
 &= f_{n+2}^4 - 5f_{n+2}^2 f_n^2 + (2x^2 + 5)f_{n+2}f_n^3 + f_{n+2}f_n^2 f_{n-2} - (x^2 + 1)f_n^4 \\
 &\quad - (x^2 + 1)f_n^3 f_{n-2}.
 \end{aligned} \tag{2.1}$$

Next, we develop an alternate formula for $x^3 f_{4n+2}$.

An Alternate Formula. Because $l_{2n+1} = f_{2n+2} + f_{2n}$, we have

$$\begin{aligned}
 x l_{2n+1} &= (f_{n+2} - f_n)(f_{n+2} + f_n) + f_n(f_{n+2} - f_{n-2}) \\
 &= f_{n+2}^2 + f_{n+2}f_n - f_n^2 - f_n f_{n-2}.
 \end{aligned}$$

Consequently,

$$\begin{aligned}
 x f_{4n+2} &= f_{2n+1}(x l_{2n+1}) \\
 &= (f_{n+1}^2 + f_n^2)(x l_{2n+1}); \\
 x^3 f_{4n+2} &= [(f_{n+2} - f_n)^2 + x^2 f_n^2] [f_{n+2}^2 + f_{n+2}f_n - f_n^2 - f_n f_{n-2}] \\
 &= f_{n+2}^4 + A + B + C + E + F + G,
 \end{aligned}$$

where

$$\begin{aligned}
 A &= -f_{n+2}^3 f_n + (x^2 - 2)f_{n+2}^2 f_n^2 - f_{n+2}^2 f_n f_{n-2} \\
 &= -f_{n+2}^2 f_n (f_{n+2} + f_{n-2}) + (x^2 - 2)f_{n+2}^2 f_n^2 \\
 &= -f_{n+2}^2 f_n [(x^2 + 2)f_n] + (x^2 - 2)f_{n+2}^2 f_n^2 \\
 &= -4f_{n+2}^2 f_n^2; \\
 B &= (x^2 + 2)f_{n+2}f_n^3 \\
 &= x f_{n+2}f_n^2 (f_{n+1} - f_{n-1}) + f_{n+2}f_n^2 (f_{n+2} - x f_{n+1}) + f_{n+2}f_n^3 \\
 &= -f_{n+2}f_n^2 (x f_{n-1}) + f_{n+2}f_n^2 + f_{n+2}f_n^3 \\
 &= -f_{n+2}f_n^2 (f_n - f_{n-2}) + f_{n+2}f_n^2 + f_{n+2}f_n^3 \\
 &= f_{n+2}^2 f_n^2 + f_{n+2}f_n^2 f_{n-2}; \\
 C &= 2f_{n+2}f_n^2 f_{n-2}; \\
 E &= f_{n+2}f_n^3 - x^2 f_n^4 \\
 &= x f_{n+1} + f_n) f_n^3 - x^2 f_n^4 \\
 &= f_n^4 + x f_n^3 f_{n-1} \\
 &= f_n^4 + x^2 f_n^2 f_{n-1}^2 + x f_n^2 f_{n-1} f_{n-2};
 \end{aligned}$$

$$\begin{aligned}
 F &= -(x^2 + 1)f_n^3 f_{n-2} \\
 &= -f_n^2 f_{n-2}(f_{n+2} - x f_{n+1}) - x^2 f_n^3 f_{n-2} \\
 &= -f_{n+2} f_n^2 f_{n-2} + x f_{n+1} f_n^2 f_{n-2} - x^2 f_n^3 f_{n-2} \\
 &= -f_{n+2} f_n^2 f_{n-2} + x f_n^2 f_{n-1} f_{n-2}; \\
 G &= -f_n^4 \\
 &= -f_n^2 (x f_{n-1} + f_{n-2})^2 \\
 &= -x^2 f_n^2 f_{n-1}^2 - 2x f_n^2 f_{n-1} f_{n-2} - f_n^2 f_{n-2}^2.
 \end{aligned}$$

Thus,

$$x^3 f_{4n+2} = f_{n+2}^4 - 3f_{n+2}^2 f_n^2 + 2f_{n+2} f_n^2 f_{n-2} + f_n^4 - f_n^2 f_{n-2}^2. \quad (2.2)$$

It follows from identities (2.1) and (2.2) that

$$2f_{n+2}^2 f_n^2 + f_{n+2} f_n^2 f_{n-2} + (x^2 + 2)f_n^4 + (x^2 + 1)f_n^3 f_{n-2} = (2x^2 + 5)f_{n+2} f_n^3 + f_n^2 f_{n-2}^2. \quad (2.3)$$

This can be confirmed independently. To this end, let

$$\begin{aligned}
 A^* &= f_{n+2} f_n^2 f_{n-2} - (2x^2 + 5)f_{n+2} f_n^3 + f_{n+2} f_n^2 f_{n-2} \\
 &= f_{n+2} f_n^2 [2f_{n+2} - (2x^2 + 5)f_n + f_{n-2}] \\
 &= f_{n+2} f_n^2 [f_{n+2} + (x^2 + 2)f_n - (2x^2 + 5)f_n] \\
 &= f_{n+2} f_n^2 [f_{n+2} - (x^2 + 3)f_n] \\
 &= -f_{n+2} f_n^2 (f_n + f_{n-2}); \\
 B^* &= (x^2 + 2)f_n^4 + (x^2 + 1)f_n^3 f_{n-2} - f_n^2 f_{n-2}^2 \\
 &= f_n^2 [(x^2 + 2)f_n^2 + (x^2 + 1)f_n f_{n-2} - f_{n-2}^2] \\
 &= f_n^2 \{f_n(f_{n+2} + f_{n-2}) + f_{n-2} [(x^2 + 1)f_n - f_{n-2}]\} \\
 &= f_n^2 [f_n(f_{n+2} + f_{n-2}) + f_{n-2} (x^2 f_n + x f_{n-1})] \\
 &= f_n^2 (f_{n+2} f_n + f_n f_{n-2} + x f_{n+1} f_{n-2}) \\
 &= f_{n+2} f_n^2 (f_n + f_{n-2}).
 \end{aligned}$$

Then $A^* + B^* = 0$; this confirms identity (2.3), as desired.

Identities (2.1) and (2.2) yield

$$F_{4n+2} = F_{n+2}^4 - 5F_{n+2}^2 F_n^2 + 7F_{n+2} F_n^2 + F_{n+2} F_n^2 F_{n-2} - 2F_n^4 - 2F_n^3 F_{n-2}; \quad (2.4)$$

$$F_{4n+2} = F_{n+2}^4 - 3F_{n+2}^2 F_n^2 + 2F_{n+2} F_n^2 F_{n-2} + F_n^4 - F_n^2 F_{n-2}^2, \quad (2.5)$$

respectively; see [2, 4] for a graph-theoretic proof of identity (2.5) using path graphs.

Next, we find a similar formula for $x^4 f_{4n+1}$.

2.2. A Gibonacci Sum for $x^4 f_{4n+1}$. By the gibbonacci addition formula, and identities (1.1) and (1.2), we have

$$\begin{aligned}
 x^4 f_{4n+1} &= (x^3 f_{3n+1})(x f_{n+1}) + x^2 (x^2 f_{3n}) f_n \\
 &= (f_{n+2} - f_n) [f_{n+2}^3 - 3f_{n+2}^2 f_n + (2x^2 + 3)f_{n+2} f_n^2 - (x^2 + 1)f_n^3 - x^2 f_n^2 f_{n-2}] \\
 &\quad + x^2 f_n [2f_{n+2}^2 f_n - (x^2 + 3)f_{n+2} f_n^2 - f_{n+2} f_n f_{n-2} + (x^2 + 1)f_n^3 + (x^2 + 1)f_n^2 f_{n-2}] \\
 &= f_{n+2}^4 - 4f_{n+2}^3 f_n + 2(2x^2 + 3)f_{n+2}^2 f_n^2 - (x^4 + 6x^2 + 4)f_{n+2} f_n^3 - 2x^2 f_{n+2} f_n^2 f_{n-2} \\
 &\quad + (x^2 + 1)^2 f_n^4 + (x^4 + 2x^2) f_n^3 f_{n-2}.
 \end{aligned} \quad (2.6)$$

In particular, we have

$$\begin{aligned} F_{4n+1} &= F_{n+2}^4 - 4F_{n+2}^3F_n + 10F_{n+2}^2F_n^2 - 11F_{n+2}F_n^3 - 2F_{n+2}F_n^2F_{n-2} \\ &\quad + 4F_n^4 + 3F_n^3F_{n-2}. \end{aligned} \quad (2.7)$$

Next, we explore a formula for x^3f_{4n} .

2.3. A Gibonacci Sum for x^3f_{4n} . By identities (2.2) and (2.6), and the addition formula, we have

$$\begin{aligned} x^3f_{4n} &= x^3f_{4n+2} - x^4f_{4n+1} \\ &= (f_{n+2}^4 - 3f_{n+2}^2f_n^2 + 2f_{n+2}f_n^2f_{n-2} + f_n^4 - f_n^2f_{n-2}^2) \\ &\quad - [f_{n+2}^4 - 4f_{n+2}^3f_n + 2(2x^2 + 3)f_{n+2}^2f_n^2 - (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\ &\quad - 2x^2f_{n+2}f_n^2f_{n-2} + (x^2 + 1)^2f_n^4 + (x^4 + 2x^2)f_n^3f_{n-2}] \\ &= 4f_{n+2}^3f_n - (4x^2 + 9)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 + 2(x^2 + 1)f_{n+2}f_n^2f_{n-2} \\ &\quad - (x^4 + 2x^2)f_n^4 - (x^4 + 2x^2)f_n^3f_{n-2} - f_n^2f_{n-2}^2. \end{aligned} \quad (2.8)$$

An Alternate Version. Using the identity $f_{2n} = f_nl_n$, we can develop an alternate formula for x^3f_{4n} :

$$\begin{aligned} f_{4n} &= f_{2n}(f_{2n+1} + f_{2n-1}) \\ &= f_nl_n [(f_{n+1}^2 + f_n^2) + (f_n^2 + f_{n-1}^2)]; \\ x^3f_{4n} &= f_n(xl_n) [(xf_{n+1})^2 + 2x^2f_n^2 + (xf_{n-1})^2] \\ &= f_n(f_{n+2} - f_{n-2}) [(f_{n+2} - f_n)^2 + 2x^2f_n^2 + (f_n - f_{n-2})^2] \\ &= f_{n+2}^3f_n - 2f_{n+2}^2f_n^2 - f_{n+2}^2f_nf_{n-2} + 2(x^2 + 1)f_{n+2}f_n^3 + f_{n+2}f_nf_{n-2}^2 \\ &\quad - 2(x^2 + 1)f_n^3f_{n-2} + 2f_n^2f_{n-2}^2 - f_nf_{n-2}^3. \end{aligned} \quad (2.9)$$

It follows by identities (2.8) and (2.9) that

$$\begin{aligned} F_{4n} &= 4F_{n+2}^3F_n - 13F_{n+2}^2F_n^2 + 11F_{n+2}F_n^3 + 4F_{n+2}F_n^2F_{n-2} \\ &\quad - 3F_n^4 - 3F_n^3F_{n-2} - F_n^2F_{n-2}^2; \end{aligned} \quad (2.10)$$

$$\begin{aligned} &= F_{n+2}^3F_n - 2F_{n+2}^2F_n^2 - F_{n+2}^2F_nF_{n-2} + 4F_{n+2}F_n^3 + F_{n+2}F_n^2F_{n-2} \\ &\quad - 4F_n^3F_{n-2} + 2F_n^2F_{n-2}^2 - F_nF_{n-2}^3, \end{aligned} \quad (2.11)$$

respectively.

It also follows by identities (2.8) and (2.9) that

$$\begin{aligned} 3f_{n+2}^3f_n - (4x^2 + 7)f_{n+2}^2f_n^2 + f_{n+2}^2f_nf_{n-2} + (x^4 + 4x^2 + 2)f_{n+2}f_n^3 \\ + 2(x^2 + 1)f_{n+2}f_n^2f_{n-2} - f_{n+2}f_nf_{n-2}^2 - (x^4 + 2x^2)f_n^4 \\ - (x^4 - 2)f_n^3f_{n-2} - 3f_n^2f_{n-2}^2 + f_nf_{n-2}^3 = 0. \end{aligned}$$

This yields

$$\begin{aligned} 3f_{n+2}^3 - (4x^2 + 7)f_{n+2}^2f_n + f_{n+2}^2f_{n-2} + (x^4 + 4x^2 + 2)f_{n+2}f_n^2 \\ + 2(x^2 + 1)f_{n+2}f_nf_{n-2} - f_{n+2}f_{n-2}^2 - (x^4 + 2x^2)f_n^3 \\ - (x^4 - 2)f_n^2f_{n-2} - 3f_nf_{n-2}^2 + f_{n-2}^3 = 0. \end{aligned} \quad (2.12)$$

This can be confirmed independently using the identity $f_{n+2} + f_{n-2} = (x^2 + 2)f_n$ [5]. To this end, we let

$$\begin{aligned}
A &= 3f_{n+2}^3 - (4x^2 + 7)f_{n+2}^2f_n + f_{n+2}^2f_{n-2} \\
&= f_{n+2}^2 [3(f_{n+2} - f_n) - (4x^2 + 4)f_n + f_{n-2}] \\
&= f_{n+2}^2 [3xf_{n+1} - (4x^2 + 3)f_n - xf_{n-1}] \\
&= f_{n+2}^2 [2xf_{n+1} - (3x^2 + 3)f_n] \\
&= -f_{n+2}^2 [(x^2 + 3)f_n - 2xf_{n-1}] \\
&= -f_{n+2}^2 [(x^2 + 1)f_n + 2f_{n-2}]; \\
B &= (x^4 + 4x^2 + 2)f_{n+2}f_n^2 + 2(x^2 + 1)f_{n+2}f_nf_{n-2} - f_{n+2}f_{n-2}^2 \\
&= (x^4 + 4x^2 + 2)f_{n+2}f_n^2 + f_{n+2}f_{n-2} [(2x^2 + 1)f_n + xf_{n-1}] \\
&= (x^4 + 4x^2 + 2)f_{n+2}f_n^2 + f_{n+2}f_{n-2} (f_{n+2} + x^2f_n) \\
&= f_{n+2}^2f_{n-2} + (x^4 + 4x^2 + 2)f_{n+2}f_n^2 + x^2f_{n+2}f_nf_{n-2}; \\
C &= -(x^4 + 2x^2)f_n^3 - (x^4 - 2)f_n^2f_{n-2} \\
&= -f_n^2 [x^4(f_n + f_{n-2}) + 2(x^2f_n - f_{n-2})] \\
&= -2f_{n+2}f_n^2 - (x^4 - 4)f_n^3 - x^4f_n^2f_{n-2}; \\
E &= -3f_nf_{n-2}^2 + f_{n-2}^3 \\
&= -2f_nf_{n-2}^2 - f_{n-2}^2 [f_{n+2} - (x^2 + 1)f_n] \\
&= f_{n+2}f_{n-2}(-f_{n-2}) + (x^2 - 1)f_nf_{n-2}^2 \\
&= f_{n+2}f_{n-2} [f_{n+2} - (x^2 + 2)f_n] + (x^2 - 1)f_nf_{n-2}^2 \\
&= f_{n+2}^2f_{n-2} - (x^2 + 2)f_{n+2}f_nf_{n-2} + (x^2 - 1)f_nf_{n-2}^2; \\
B + C + E &= 2f_{n+2}^2f_{n-2} + F - 2f_{n+2}f_nf_{n-2} - (x^4 - 4)f_n^3 - x^4f_n^2f_{n-2} + (x^2 - 1)f_nf_{n-2}^2,
\end{aligned}$$

where

$$\begin{aligned}
F &= (x^4 + 4x^2)f_{n+2}f_n^2 \\
&= (x^4 + 3x^2 - 1)f_{n+2}f_n^2 + (x^2 + 1)f_{n+2}f_n(f_{n+2} - xf_{n+1}) \\
&= (x^2 + 1)f_{n+2}^2f_n + (x^4 + 3x^2 - 1)f_{n+2}f_n^2 - (x^3 + x)f_{n+2}f_{n+1}f_n.
\end{aligned}$$

Then

$$B + C + E = f_{n+2}^2 [(x^2 + 1)f_n + 2f_{n-2}] + G + H + I + J + K + L,$$

where

$$\begin{aligned}
G &= (x^4 + 3x^2 - 1)f_{n+2}f_n^2 \\
&= f_{n+2}f_n [(x^4 + 2x^2)f_n] + (x^2 - 1)f_{n+2}f_n^2 \\
&= x^2f_{n+2}^2f_n + x^2f_{n+2}f_nf_{n-2} + (x^2 - 1)f_{n+2}f_n^2; \\
H &= -(x^3 + x)f_{n+2}f_{n+1}f_n \\
&= -(x^2 + 1)f_{n+2}^2f_n + (x^2 + 1)f_{n+2}f_n^2;
\end{aligned}$$

$$\begin{aligned}
 I &= -2f_{n+2}f_nf_{n-2}; \\
 J &= -(x^4 - 4)f_n^3; \\
 K &= -x^4f_n^2f_{n-2} \\
 &= -x^2f_nf_{n-2}(f_{n+2} - 2f_n + f_{n-2}) \\
 &= -x^2f_{n+2}f_nf_{n-2} + 2x^2f_n^2f_{n-2} - x^2f_nf_{n-2}^2; \\
 L &= (x^2 - 1)f_nf_{n-2}^2.
 \end{aligned}$$

We then have

$$G + H + K + L = M + N + O,$$

where

$$\begin{aligned}
 M &= -f_{n+2}^2f_n \\
 &= -(x^2 + 2)f_{n+2}f_n^2 + f_{n+2}f_nf_{n-2}; \\
 N &= 2x^2f_n^2(f_{n+2} + f_{n-2}) \\
 &= (2x^4 + 4x^2)f_n^3; \\
 O &= -f_nf_{n-2}^2 \\
 &= f_{n+2}f_nf_{n-2} - (x^2 + 2)f_n^2f_{n-2}.
 \end{aligned}$$

Consequently,

$$\begin{aligned}
 M + I &= -(x^2 + 2)f_{n+2}f_n^2 - f_{n+2}f_nf_{n-2}; \\
 N + J &= (x^2 + 2)^2f_n^3; \\
 G + H + I + J + K + L &= (M + I + O) + (N + J) \\
 &= 0;
 \end{aligned}$$

$$\begin{aligned}
 B + C + E &= f_{n+2}^2[(x^2 + 1)f_n + 2f_{n-2}] + 0 \\
 &= -A;
 \end{aligned}$$

$$A + B + C + E = 0,$$

as desired.

It follows from equation (2.12) that

$$\begin{aligned}
 3F_{n+2}^3 + F_{n+2}^2F_{n-2} + 7F_{n+2}F_n^2 \\
 + 4F_{n+2}F_nF_{n-2} + F_n^2F_{n-2} + F_{n-2}^3 &= 11F_{n+2}^2F_n + F_{n+2}F_n^2F_{n-2} + 3F_n^3 + 3F_nF_{n-2}^2. \quad (2.13)
 \end{aligned}$$

Next, we investigate a formula for x^4f_{4n+3} .

2.4. A Gibonacci Sum for x^4f_{4n+3} . Using the Fibonacci recurrence, and identities (2.2) and (2.6), we have

$$\begin{aligned}
 x^4f_{4n+3} &= x^2(x^3f_{4n+2}) + x^4f_{4n+1} \\
 &= x^2(f_{n+2}^4 - 3f_{n+2}^2f_n^2 + 2f_{n+2}f_n^2f_{n-2} + f_n^4 - f_n^2f_{n-2}^2) \\
 &\quad + [f_{n+2}^4 - 4f_{n+2}^3f_n + 2(2x^2 + 3)f_{n+2}^2f_n^2 - (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad - 2x^2f_{n+2}f_n^2f_{n-2} + (x^2 + 1)^2f_n^4 + (x^4 + 2x^2)f_n^3f_{n-2}] \\
 &= (x^2 + 1)f_{n+2}^4 - 4f_{n+2}^3f_n + (x^2 + 6)f_{n+2}^2f_n^2 - (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad + (x^4 + 3x^2 + 1)f_n^4 + (x^4 + 2x^2)f_n^3f_{n-2} - x^2f_n^2f_{n-2}^2. \quad (2.14)
 \end{aligned}$$

Consequently,

$$F_{4n+3} = 2F_{n+2}^4 - 4F_{n+2}^3F_n + 7F_{n+2}^2F_n^2 - 11F_{n+2}F_n^3 + 5F_n^4 + 3F_n^3F_{n-2} - F_n^2F_{n-2}^2. \quad (2.15)$$

We now explore a gibbonacci sum for x^4f_{4n-1} .

2.5. A Gibonacci Sum for x^4f_{4n-1} . Using the gibbonacci recurrence, and identities (2.6) and (2.8), we have

$$\begin{aligned} x^4f_{4n-1} &= [f_{n+2}^4 - 4f_{n+2}^3f_n + 2(2x^2 + 3)f_{n+2}^2f_n^2 - (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\ &\quad - 2x^2f_{n+2}f_n^2f_{n-2} + (x^2 + 1)^2f_n^4 + (x^4 + 2x^2)f_n^3f_{n-2}] \\ &\quad - x^2[4f_{n+2}^3f_n - (4x^2 + 9)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\ &\quad + 2(x^2 + 1)f_{n+2}f_n^2f_{n-2} - (x^4 + 2x^2)f_n^4 - (x^6 + 2x^4)f_n^3f_{n-2} - f_n^2f_{n-2}^2] \\ &= f_{n+2}^4 - 4(x^2 + 1)f_{n+2}^3f_n + (4x^4 + 13x^2 + 6)f_{n+2}^2f_n^2 \\ &\quad - (x^6 + 7x^4 + 10x^2 + 4)f_{n+2}f_n^3 - 2(x^4 + 2x^2)f_{n+2}f_n^2f_{n-2} \\ &\quad + (x^6 + 3x^4 + 2x^2 + 1)f_n^4 + (x^6 + 3x^4 + 2x^2)f_n^3f_{n-2} + x^2f_n^2f_{n-2}^2. \end{aligned} \quad (2.16)$$

In particular,

$$\begin{aligned} F_{4n-1} &= F_{n+2}^4 - 8F_{n+2}^3F_n + 23F_{n+2}^2F_n^2 - 22F_{n+2}F_n^3 - 6F_{n+2}F_n^2F_{n-2} \\ &\quad + 7F_n^4 + 6F_n^3F_{n-2} + F_n^2F_{n-2}^2. \end{aligned} \quad (2.17)$$

Next, we find a gibbonacci sum for x^4l_{4n} .

2.6. A Gibonacci Sum for x^4l_{4n} . Using the identity $f_{n+1} + f_{n-1} = l_n$, and identities (2.6) and (2.16), we have

$$\begin{aligned} x^4l_{4n} &= x^4f_{4n+1} + x^4f_{4n-1} \\ &= [f_{n+2}^4 - 4f_{n+2}^3f_n + 2(2x^2 + 3)f_{n+2}^2f_n^2 - (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\ &\quad - 2x^2f_{n+2}f_n^2f_{n-2} + (x^2 + 1)^2f_n^4 + (x^4 + 2x^2)f_n^3f_{n-2}] \\ &\quad + [f_{n+2}^4 - 4(x^2 + 1)f_{n+2}^3f_n + (4x^4 + 13x^2 + 6)f_{n+2}^2f_n^2 \\ &\quad - (x^6 + 7x^4 + 10x^2 + 4)f_{n+2}f_n^3 - 2(x^4 + 2x^2)f_{n+2}f_n^2f_{n-2} \\ &\quad + (x^6 + 3x^4 + 2x^2 + 1)f_n^4 + (x^6 + 3x^4 + 2x^2)f_n^3f_{n-2} + x^2f_n^2f_{n-2}^2] \\ &= 2f_{n+2}^4 - 4(x^2 + 2)f_{n+2}^3f_n + (4x^4 + 17x^2 + 12)f_{n+2}^2f_n^2 \\ &\quad - (x^6 + 8x^4 + 16x^2 + 8)f_{n+2}f_n^3 - 2(x^4 + 3x^2)f_{n+2}f_n^2f_{n-2} \\ &\quad + (x^6 + 4x^4 + 4x^2 + 2)f_n^4 + (x^6 + 4x^4 + 4x^2)f_n^3f_{n-2} + x^2f_n^2f_{n-2}^2. \end{aligned} \quad (2.18)$$

This implies

$$\begin{aligned} L_{4n} &= 2F_{n+2}^4 - 12F_{n+2}^3F_n + 33F_{n+2}^2F_n^2 - 33F_{n+2}F_n^3 - 8F_{n+2}F_n^2F_{n-2} \\ &\quad + 11F_n^4 + 9F_n^3F_{n-2} + F_n^2F_{n-2}^2. \end{aligned} \quad (2.19)$$

2.7. A Gibonacci Sum for x^3l_{4n+1} . Using the identity $f_{n+1} + f_{n-1} = l_n$, and identities (2.2) and (2.8), we have

$$\begin{aligned}
 x^3l_{4n+1} &= x^3f_{4n+2} + x^3f_{4n} \\
 &= (f_{n+2}^4 - 3f_{n+2}^2f_n^2 + 2f_{n+2}f_n^2f_{n-2} + f_n^4 - f_n^2f_{n-2}^2) \\
 &\quad + [4f_{n+2}^3f_n - (4x^2 + 9)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 + 2(x^2 + 1)f_{n+2}f_n^2f_{n-2} \\
 &\quad - (x^4 + 2x^2)f_n^4 - (x^4 + 2x^2)f_n^3f_{n-2} - f_n^2f_{n-2}^2] \\
 &= f_{n+2}^4 + 4f_{n+2}^3f_n - 4(x^2 + 3)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad + 2(x^2 + 2)f_{n+2}f_n^2f_{n-2} - (x^4 + 2x^2 - 1)f_n^4 - (x^4 + 2x^2)f_n^3f_{n-2} - 2f_n^2f_{n-2}^2. \tag{2.20}
 \end{aligned}$$

It then follows that

$$\begin{aligned}
 L_{4n+1} &= F_{n+2}^4 + 4F_{n+2}^3F_n - 16F_{n+2}^2F_n^2 + 11F_{n+2}F_n^3 + 6F_{n+2}F_n^2F_{n-2} - 2F_n^4 \\
 &\quad - 3F_n^3F_{n-2} - 2F_n^2F_{n-2}^2. \tag{2.21}
 \end{aligned}$$

2.8. A Gibonacci Sum for x^3l_{4n-1} . Using gibbonacci recurrence, and identities (2.18) and (2.20), we have

$$\begin{aligned}
 x^3l_{4n-1} &= x^3l_{4n+1} - x^4l_{4n} \\
 &= [f_{n+2}^4 + 4f_{n+2}^3f_n - 4(x^2 + 3)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad + 2(x^2 + 2)f_{n+2}f_n^2f_{n-2} - (x^4 + 2x^2 - 1)f_n^4 - (x^4 + 2x^2)f_n^3f_{n-2} - 2f_n^2f_{n-2}^2] \\
 &\quad - [2f_{n+2}^4 - 4(x^2 + 2)f_{n+2}^3f_n + (4x^4 + 17x^2 + 12)f_{n+2}^2f_n^2 \\
 &\quad - (x^6 + 8x^4 + 16x^2 + 8)f_{n+2}f_n^3 - 2(x^4 + 3x^2)f_{n+2}f_n^2f_{n-2} \\
 &\quad + (x^6 + 4x^4 + 4x^2 + 2)f_n^4 + (x^6 + 4x^4 + 4x^2)f_n^3f_{n-2} + x^2f_n^2f_{n-2}^2] \\
 &= -f_{n+2}^4 + 4(x^2 + 3)f_{n+2}^3f_n - (4x^4 + 21x^2 + 24)f_{n+2}^2f_n^2 \\
 &\quad + (x^6 + 9x^4 + 22x^2 + 12)f_{n+2}f_n^3 + 2(x^4 + 4x^2 + 2)f_{n+2}f_n^2f_{n-2} \\
 &\quad - (x^6 + 5x^4 + 6x^2 + 1)f_n^4 - (x^6 + 5x^4 + 6x^2)f_n^3f_{n-2} - (x^2 + 2)f_n^2f_{n-2}^2. \tag{2.22}
 \end{aligned}$$

This implies

$$\begin{aligned}
 L_{4n-1} &= -F_{n+2}^4 + 16F_{n+2}^3F_n - 49F_{n+2}^2F_n^2 + 44F_{n+2}F_n^3 + 14F_{n+2}F_n^2F_{n-2} \\
 &\quad - 13F_n^4 - 12F_n^3F_{n-2} - 3F_n^2F_{n-2}^2. \tag{2.23}
 \end{aligned}$$

Next, we express x^4l_{4n+2} as a gibbonacci sum.

2.9. A Gibonacci Sum for x^4l_{4n+2} . The gibbonacci recurrence, coupled with identities (2.18) and (2.20), yields

$$\begin{aligned}
 x^4l_{4n+2} &= x^5l_{4n+1} + x^4l_{4n} \\
 &= x^2[f_{n+2}^4 + 4f_{n+2}^3f_n - 4(x^2 + 3)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad + 2(x^2 + 2)f_{n+2}f_n^2f_{n-2} - (x^4 + 2x^2 - 1)f_n^4 - (x^4 + 2x^2)f_n^3f_{n-2} - 2f_n^2f_{n-2}^2] \\
 &\quad + [2f_{n+2}^4 - 4(x^2 + 2)f_{n+2}^3f_n + (4x^4 + 17x^2 + 12)f_{n+2}^2f_n^2 \\
 &\quad - (x^6 + 8x^4 + 16x^2 + 8)f_{n+2}f_n^3 - 2(x^4 + 3x^2)f_{n+2}f_n^2f_{n-2} \\
 &\quad + (x^6 + 4x^4 + 4x^2 + 2)f_n^4 + (x^6 + 4x^4 + 4x^2)f_n^3f_{n-2} + x^2f_n^2f_{n-2}^2] \\
 &= (x^2 + 2)f_{n+2}^4 - 8f_{n+2}^3f_n + (5x^2 + 12)f_{n+2}^2f_n^2 - 2(x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad - 2x^2f_{n+2}f_n^2f_{n-2} + (2x^4 + 5x^2 + 2)f_n^4 + 2(x^4 + 2x^2)f_n^3f_{n-2} - x^2f_n^2f_{n-2}^2. \tag{2.24}
 \end{aligned}$$

This yields

$$\begin{aligned}
 L_{4n+2} &= 3F_{n+2}^4 - 8F_{n+2}^3F_n + 17F_{n+2}^2F_n^2 - 22F_{n+2}F_n^3 - 2F_{n+2}F_n^2F_{n-2} \\
 &\quad + 9F_n^4 + 6F_n^3F_{n-2} - F_n^2F_{n-2}^2. \tag{2.25}
 \end{aligned}$$

Finally, we express x^3l_{4n+3} as a gibbonacci sum.

2.10. A Gibonacci Sum for x^3l_{4n+3} . Using gibbonacci recurrence, and identities (2.20) and (2.24), we have

$$\begin{aligned}
 x^3l_{4n+3} &= x^4l_{4n+2} + x^3l_{4n+1} \\
 &= [f_{n+2}^4 + 4f_{n+2}^3f_n - 4(x^2 + 3)f_{n+2}^2f_n^2 + (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad + 2(x^2 + 2)f_{n+2}f_n^2f_{n-2} - (x^4 + 2x^2 - 1)f_n^4 - (x^4 + 2x^2)f_n^3f_{n-2} - 2f_n^2f_{n-2}^2] \\
 &\quad + [(x^2 + 2)f_{n+2}^4 - 8f_{n+2}^3f_n + (5x^2 + 12)f_{n+2}^2f_n^2 - 2(x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad - 2x^2f_{n+2}f_n^2f_{n-2} + (2x^4 + 5x^2 + 2)f_n^4 + 2(x^4 + 2x^2)f_n^3f_{n-2} - x^2f_n^2f_{n-2}^2] \\
 &= (x^2 + 3)f_{n+2}^4 - 4f_{n+2}^3f_n + x^2f_{n+2}^2f_n^2 - (x^4 + 6x^2 + 4)f_{n+2}f_n^3 \\
 &\quad + 4f_{n+2}f_n^2f_{n-2} + (x^4 + 3x^2 + 3)f_n^4 + (x^4 + 2x^2)f_n^3f_{n-2} \\
 &\quad - (x^2 + 2)f_n^2f_{n-2}^2. \tag{2.26}
 \end{aligned}$$

In particular, we then have

$$\begin{aligned}
 L_{4n+3} &= 4F_{n+2}^4 - 4F_{n+2}^3F_n + F_{n+2}^2F_n^2 - 11F_{n+2}F_n^3 + 4F_{n+2}F_n^2F_{n-2} \\
 &\quad + 7F_n^4 + 3F_n^3F_{n-2} - 3F_n^2F_{n-2}^2. \tag{2.27}
 \end{aligned}$$

3. CONCLUSION

Because $b_n(x) = g_n(2x)$, the Pell versions, polynomial and numeric, follow from the gibbonacci identities. In the interest of brevity, we omit them.

4. ACKNOWLEDGMENT

The author thanks the reviewer for a careful reading of the article and for encouraging words.

REFERENCES

- [1] M. Bicknell, *A primer for the Fibonacci numbers: Part VII*, The Fibonacci Quarterly, **8.4** (1970), 407–420.
- [2] J. DeMaio and J. Jacobson, *Fibonacci number of the tadpole graph*, Electronic Journal of Graph Theory and Applications, **2** (2014), 129–138.
- [3] T. Koshy, *A family of sums of fibonacci polynomial products of order 3*, Journal of the Indian Academy of Mathematics, **41.2** (2019), 163–174.
- [4] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Volume I, Wiley, Hoboken, New Jersey, 2018.
- [5] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Volume II, Wiley, Hoboken, New Jersey, 2019.
- [6] T. Koshy, *Polynomial extensions of the Lucas and Ginsburg identities revisited*, The Fibonacci Quarterly, **55.2** (2017), 147–151.
- [7] T. Koshy, *A recurrence for fibonacci cubes with graph-theoretic confirmations*, The Fibonacci Quarterly, **57.2** (2019), 139–147.
- [8] R. S. Melham, *A Fibonacci identity in the spirit of Simson and Gelin-Cesàro*, The Fibonacci Quarterly, **41.2** (2003), 142–143.

MSC2020: 11B37, 11B39, 33B50

DEPARTMENT OF MATHEMATICS, FRAMINGHAM STATE UNIVERSITY, FRAMINGHAM, MA 01701, USA
 Email address: `tkoshy@emeriti.framingham.edu`